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Lésungen:
Aufgabe 1:
Funktion Scheitel Form Offnung Nullstellen
|3 b=

3|E |.S|55 |58

s | O oS | ®Q ©

o »n c o n c o c S
y=-3(x+ 4)2 -2 S (-4/-2) X X keine keine
y=2x_3 S(0/-3) X X N; (2,7/0) | N3 (-2,7/0)

5
y=-02x S(0/0) X [N (0/0)
y=—x S(0/0) X X N4 (0/0)
y=(x+7,2)° S (-7,2/0) X X N, (-7,2/0)
y=1(x-57 S (5/0) X N; (5/0)
y=0,1(x + 0,5)° S (-0,5/0) X X N, (-0,5/0)
=—7(x-2) S(2/0) X XNy (210)
y=(x—3)+1 S@3/1) X X
y=—(x—-1°+86 S (1/6) X X |N;(-1,5/0) [N, (3,5/0)
y=14(x+3)°-22 S (-3/-2,2) X X N; (-4,3/0) [N, (-1,7/0)
y=x"+4x+5  (Vorsichtll) S(-2/1) X X
y=x -1 S(0/-1) X X N4 (1/0) N, (-1/0)
y=(x+17 -4 S(-1/-4) X X N, (1/0) N, (-3/0)
=—-xX'-25 S(0/-25) X X

Aufgabe 2:

Aufgabe 3:

x={-3|-2|-1]10 1 2 3

a) | 115] 40| 05| -2,0| -05| 40| 115
b) | -40| -20| -08| 04| -0,8| -2,0| -4,0
c) | -16] 05| 21| 32| 39| 40| 36

Aufgabe 4:

A1 (211) Ay (-2/1) B, (1,7/0) B, (-1,7/0) C1(2,45/3) C,(-2,45/3)
[Es gibt jeweils zwei Punkte!!!]

Aufgabe 5:
y1 = (x+3)? Y2 = X2 Y3=X*=3  ys=(x5p+2 Y5 = —(x+2)* — 1



